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[Return Lead]




ZHZ8C

UL CSAIECBSIVDETUV  JSI

Dielectric Withstand Voltage

(YY)
(YY)
(YY)
(YY)
2X +1000V 100V-240V
1000V 4000V “ 77
2X +1000V
100%  120% AC
40 70Hz RMS
1.3 RMS 1.5

AC DC




ZHZ8C

ACW
ACW
1.
2.
3.
AC
1.
2.
DC
DC
1.
2.

DC




ZHZ8C

ZHZSC 220V AC=%=10% 50Hz

2A




ZHZ8C

0—40
0—8%
2000
ZHZ8C
.......................................... 40 —75
................................................... 7620
ZHZ8C
PLC
PLC
5kVAC @ 12mA =10
60/50Hz

=+=100PPM




ZHZ8C

0.10-12.00 Ma
0.01mA/Step

+= 3% =+2Counts
0.00-12.00 mA
0.01mA/Step

+= 3% =+2Counts
AC 0.10-5.00 kV
10V/Step

+= 3% +=10V

AC 0.10-5.00 kV
0.01kV/Step

+= 3% #+2Counts

AC 0.10-12.00 mA
0.01mA/Step
+= 3% =+2Counts

0.4-999.9s 0.1s/Step [0= ]
=+ 3%=x2Counts

>

Pass, Fail, -in-Process

110mm

x270mm  x405mm

10kg

10V/s 100V/s 1000V/s

XXX.XS




ZHZ8C

3.
0.4ms
4.
5.
““PLC”” <““RS-2327~
6.
7.

PLC

PC



ZHZ8C

PLC
9
“0,,
10.
50Hz 60Hz
1.
a.
0 —40 80%
b.
2. -20  —70
3. 0 —30
1 /E
2 @ ZH78C http://www.shanbiao.com
? (A X
L [O] A A
H.V RETURN
_ A v d
\ | [ J [ J T J [

X

ZHZ8C

5
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ZHZ8C

2
3
4
5 |HV. ]
6 RETURN
7 ] H.V.
8
© ©
]FZA 250V
o = N2
© ©
2 3 4
ZHZ8C
1 2A
2
3
4 PLC
5 RS232

““l

1>

A

1>
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ZHZ8C

ACW T1=xxx.xs
x.xxkV XX.XXIA

[ ]

ACW T1=xxx.Xxs

x.xxkV XX.XXIMA

[AV]—
[€»]—

Test Item= W
Set By [AV 4 »]

“CIAVAP»]”

ACW
x.xxkV

x.xxkV

T1=xxx.XS

XX.XXmMA

XX.XXmMA

T1=xxx.XS

13



ZHZ8C

W-Volt = x.xxkVAC
Set By[AVY « »]

[€»] [AV]

HI-LMT = xx.XxXmA
Set By[AVY « »]

(€] [AV]

LO-LMT = xx.xxmA
Set By[AVY « »]

[€»] [AV]

Timer(T1)=xxx.xs
Set By [AV < »]
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ZHZ8C

[ »] [AV] [ ]
T1 ““T1=000.0s"" [ | <<
> I ‘I
[ | [ ] [ ]
6.
[ ]
Pause(T2)=xxx.xs
Set By [AV <« >|
[€»] [AV] [ ]
T2 ““T2=000.0s>" [ | T1
[ | T2
T2 “=0°" T2
T2
T2
[ 1 [ 1 [ 1
7.
[ ]
V-Speed = OFF W-Ramp =xxx.xs
Set By [AV « | Set By [AV < »]
[AV <> [ »] [AV]
[A] 10V/s [V] 100V/s [«] 1000V/s _[»]
OFF [ 1
8.

[ ]

SET Freq = 50Hz
Set by[AorV]

SET Freq = 60Hz
Set by [AorV]

15



ZHZ8C

[A]  S0Hz [V¥]  60Hz

9.
[ ]
Voltaic Arc=X
Set by [AorV]
[AV]
10.

CAL Vdsp by[A]
CAL Vout by[V]

[A]

[V]

STD-VOL=. KkVAC
Local-V=x.xxkVAC

[ >] [AV]

STD-VOL=. KkVAC
Local-V=x.xxkVAC

(€] [AV]

11. 5

16



ZHZ8C

CAL Idsp by|[A]

[A]
STD-I= . mAAC STD-I= . mADC
Local =xx.xxmAAC Local =xx.xxmADC
[€»] [AV] [ ]

ACW T1=xxx.Xxs

x.xxkV XX.XXmA
ACW XXX.XS
x.xxkV XX.XXIMA

ACW  T1=xxx.xs

x.xxkV XX.XXIMA

W-High T1= xxx.xs

x.xxkV XX.XXImA




ZHZ8C

W-High T1=xxx.xs
x.xxkV OFL mA

W-Low TI1= xxx.xs

x.xxkV XX.XXImA

W-BRK  TI1=xxx.xs
x.xxkV OFL mA

W-BRK T1=xxx.xs
---kVAC OFL mA

W-Arc T1= xxx.xs

x.xxkV >XX.XXIMA

(‘>11
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ZHZ8C

W-Arc T1= xxx.xs
---Kv >XX.XXIMA

ACW  T2= xxx.xs

x.xxkV XX.XXImA

0.4ms

ZHZC

Voltaic Arc=X
Set By [A or V]

DCW  T2= xxx.xs

x.xxkV XX.XXIMA

0.50mA 0.75SmA 1.00mA 1.25mA

Voltaic Arc=0
Set By [A or V]

1.50mA 1.75mA 2.00mA 2.25mA 2.50mA
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ZHZ8C

1.5

Voltaic Arc = OFF
Set By [A or V]

0.5%

0.5%

0—6000VAC 0—8000VDC

0—I15mA AC

0—6mA DC

420kQ 60 WATT

500kQ 2 WATT

““H.v.?” ““RETURN”~

““RETURN?”

H.V. ®

A

6000VAC
= ‘H.V' k4

RETURN

®
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ZHZ8C

@ L J <
RETURN
[ ]
5.00kV
[ ]
CAL Vdsp by[A]
CAL Vout by[V]
[V]
STD-VOL=. KkVAC
Local-V=5.00kVAC
[€>] [AY] [
RETURN
[ ]
5.00kV

CAL Vdsp by[A]
CAL Vout by[V]

[A]

STD-VOL=. kVAC
Local-V=X.XXkVAC

[€»] [AV] [



ZHZ8C

420kQ/60W <<H.V.”” ““RETURN””
R
H.V.
RETURN * <
[ ]
5.00kV

CAL Idsp by[A]

[A]

STD-I= . mAAC
Local = xx.xx mAAC

REd ([AV] [ ] [ ]
ZHZ8 50Hz 60Hz
50Hz
60Hz

PLC

9PIND PROCESSING
PASS FAIL

22



ZHZ8C

ZHZ8C “ ”? N.O
3A/125VAC
COMMON

1. PROCESSING PIN5 PIN9
2. PASS PIN4 PIN8
3. FAIL PIN3 PIN7

ZHZ8C

“ 7 MOMENTARY
PIN6

COMMON
1. PIN2 PING
2. PIN1 PING

1
=1800V/AC 50Hz =2s < 5.00mA
““H.V.”” ““RETURN~”
1 [ ]
2.
3.
[ ]
ACW T1=xxx.Xx s

1.80kV

XX.XXIMA

23



ZHZ8C

4.
2
10
1 [ ]
2.
3.
[
ACW T1=xxx.X s
1.80kV XX.XXIMA
4.
ACW T2=xxx.X §
1.80kV XX.XXINA
3
6.
7 [ ]
8. 3.00kV
9. [

CAL

CAL Vdsp by|[A]
Vout by |[V]

10. [V]



ZHZ8C

STD-VOL=. kVAC
Local-V=3.00kVAC

[€»] [AV] [

3.00kV

CAL Vdsp by[A]
CAL Vout by[V]

[A]

STD-VOL=. KkVAC
Local-V=X.XXKkVAC

[ »] [AV] [

8 50kCQ/10W

[ ]

3.00kV 1.80kV

[ ]

CAL Idsp by|[A]




ZHZ8C

STD-I=. mAAC
Local-I=x.xxx mAAC

STD-I=. mADC
Local-I=x.xxx mADC

[€»>] [AV]

2A
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